Exemplar Problem

Trigonometry Functions

73. Ifcosecx =1+ cotx then x = 2nm, 2nm + g

Ans: Given, cosecx = 1 + cotx
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Divide whole equation by "7.
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We know that 3" = U5 and 95 3 = 5. Therefore, we can write above written equation as,

=sin2—7sinx+cos%cosx - V,—lz

Or

I, i indr _ 1
= COSXCOSs % SINXSINE = <%
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We know that €05 (X — ¥) = COSXCOS Yy + SINXSINY Therefore, we get

=cos(x—%) =%
=cos(x—£—7) =cosg

We know that if C0S8 = COS@ then & = 2N £ @ Therefore, we get

=X=2nm+3 o =x=2nn

Thus, the given statement is true.



